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lOP/244/2 
No. of Questions: 150 

W'i'fq;fr~: 150 

Time : 2 Hours 

'fI7'I7:I' : 2 ~ 

Full Marks: 450 

9,0141·: 450 

Note: (1) Attempt as many questions as you can. Each question carries 3 

(Three) marks. One mark will be deductedfor each incorrect 
answer. Zero mark will be awarded for each unattempted 

question. 

31f~_ m 'iii V'f 'liB 'liT >!'!('! crt I ~ >I'I'f 3 ( 1'ft"! ) aton 'liT tl 

Yr4Ch m:rn '3'i'f'f if; fffiU,[Ch" 3i;;n"iifiTCT 'i"4'111 ~ a1jflRd >I'I'f 'liT 

~ I '<I i '*' l'['<l',i'rn I 
(2) If more than one alternative ans\yers seem to be approximate to 

the correct answer, choose the closest one. 

<!fu: ~_ &,*,f01,*, om -mIT om it f.!q;c. m, it H,*,cd~ -mIT om ~I 

01. Which one of the following is a natural antioxidant? 

(1) Citric acid 

(3) Ascorbic acid 

(2) Acetic acid 

(4) Sorbic acid 

H"1f<'lf@d it B 'Ii'R 1l:'I' ~Iq;fd,*, "5!fu 311'f81,*",*, t : 
(1) \11~f~,*, 31'<'1 (2) lI!iIfc'li 31'<'1 

02. Most widely use and controversial flavor enhancer is : 

(I) Monosodium propionate 

(3) Sodium benzoate 

3 

(2) Sodium propionate 

(4) Monosodium glutamate 

P.T.O. 
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~!i>~~ffi ~ rqCjI~lfq~ wP'T q\jq; t : 
(1) ~111{i1rS~~ ~lft"i1~c: (2) fi1rs~~ >ilfll~l~C: 

03. The total soluble solids content in jams and jellies is : 

(1) 65 - 68% 

(3) 55 - 58% 

(2) 75 -78% 

(4) 60 - 70% 

04. The substance responsible for jelly making in fruits is : 

05. 

(1) Protein (2) Phytin 

(3) Pectin (4) Carotene 

~ i! a q r ~ <I ~ ''!"'If.t i:!;- fffil: a ~ (~I ~ 1 'IGT!l t : 
(1) JitiR (2) 'lil~rc" 

(3) ~ 

Foods are spoiled by the action of : 

(1 ) Micro - organisms 

(3) Insects 

( 1) 'i'l'l - 'i\1 Cj I '1 

(3) q,'jc: 

(4) 4;\101" 

(2) . Enzymes 

(4) All of the above 

(2) l0'Il.~ 

(4) aq1ffi ,,'lj\ 

06. Continuous method of pasteurization has advantage over batch 
method as it is more: 

(1) Time saving (2) Energy saving 

(3) Both of the above (4) None of the above 

4 
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1JTWI.~~H q,'j 31fom;j f¥'l ~ f¥'l <l <'lT~ t ¥flf., ~ t 3!f'l'O : 

( 1 ) Wl'l"ifi'!ij 'I>G q]"('j\ (2) ~"ifi'!ij 

(3) aq1'<h ~ (4) aq1'<h i! <l ~ 'f\ff 

(2) Only fruits 

07. FPO certification is given to : 

(1) Fruits and vegetables 

(3) Only vegetables (4) All agriculture produce 

ll:'Iio-qjoaTIo ~AIUI'1 R'"1r<'lr@d <it m ''IT<!T t : 
( 1) "tfi{'! afu: ~ r "'I ~ I (2 ) ~"tfi{'! 

(3) ~ ~r"'l~1 

08. The agents responsible for flayor arc: 

(1) Esters 

(3) Ketones 

12) Aldehydes 

(4) All of the above 

wP'l ~ ~ a"(~I~n ~ roj'"1r<'lr@<I t : 
(1) ~ (2) qf<:'"s~I~~~ 

(3) ~ (4) aq1'<h B>IT 

09. HTST process of pasteurization involves heating at : 

(1) 63'C for 30uC minutes 

(3) 93'C for 3'C seconds 

(2) 72'C for 15' seconds 

(4) 150'C for 10 seconds 

-q'f'!J>(I~~~H q,'j 1{'loilo,<"oilo >rfl!;<rr i! ~r"1r<'l<l t <If'R R'"1r<'lr@d 'R : 

(1) 63' <loi)o, 30'fifR: (2) 72' <loiro, 15 €1it> us 
(3) 93' <loiro, 3 €1it> us (4) 150' <loiro, 1 €1it> us 

5 P.T.O. 
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10. Saffron can be used as : 

(1) Flavoring agent 

(3) Both of the above 

(2) Coloring agent 

(4) None of the above 

~ f<1"if<.1f@(j <"1! if "Il'iM <it "fT ~ % : 
( 1) ~ it <"1! if (2) t<T '!iWf> it <"1! if 
(3) dQ1u; m (4) aQ1u; if it ~-;;-;if 

11. Bcnzonic avid is not very much effecti\-e against: 

(1) Yeast (2) Mould 

(3) Bacteria (4) All of the above 

~oi1,if> 31'<1 f<1"if<.1f{g(j 'if; ful< '-!>WT1: -;;-;if % : 
(I) -,m;: (2) ~I~s 

12. Which one is not a natural food color? 

(1) Caramel 

(3) Saffron 

(2) Annato 

(4) Tanazme 

f<1"if<.1f@(j if it -<t>R Qlq;fdif> "&li'1 t<T ~ %? 
(1) i[;<lfA<'I (2) 

(3) ~ (4) 

13. Following is a example of bacteriostatic method: 

(l) Canning 

(3) Sterilization 

(l) ~ 

(3) R((1I~cij~1'i 

6 

(2) 

(4) 

Dn-in a - ~ 

Irradiation 

(2) \j@'il 

(4) ilf-s~~I'i 
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14. Thremophiles may grow at temperature: 

"lm'hI,(1 A"1f",f@<I <Il'! 'R ~ ~ t : 
(1) 45-75'C (2) 30-40'C 

(3) 10 _20' C (4) 75 -100' C 

15. The slimy layer on food is due to : 

(1) Bacteria 

(3) Yeast 

(2) Mould 

(4) Fungi 

"&m 'R f,"qf,"41 ~ A"1f",f@<I "" 'IiJ\UT mm t : 
(1) ~<R1R~1 (2) ~ 

(3) <fIB (4) ~ 

16. The "Essential Commodities Act" was enacted in the year: 

" " p , p, " ~-m-","""", .. "" t{B"'~I~(1 ,"4Ii;;,,1 1«R H"11(1":5I(1 orq 11 >1_ ~ .3JTllT : 

(1) 1954 (21 1955 

(3) 1956 (4) 1963 

17. Red palm oil is a source of: 

(1) Ascorbic acid 

(3) ~ -carotene 

(fjf." 'liT iK1 f.j'<1f",f!9<1 'liT m t : 
(1) ,<","lf4," ~ 

(3) oltcT til<'.l'1 

(2) Riboflavin 

(4) Calciferol 

(2) {I ,011 'hM f<1 '1 

(4) tct11q,\l(1 

18. Give a scientific term for 'cracking at the angles of the mouth'. 

(1) Glossistis (2) Angular stomatitis 

(3) Dermatitis (4) Pellagra 

7 P.T.O. 
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(1) '<.1T'8n,fc'8 

(3) smOl.fc'8 

(2) ~"l<.1{ RI~,,"I.fc(1 

(4) ~ 

19. Megaloblastic anemia is caused due to the deficiency of: 

(1) Iron (2) Protein 

(3) Folic acid (4) Ascorbic acid 

~~01"<1lf(i!if> q:1lf~~1 A"1f<'lf@<1 q,'\ q;ljj % q;[(1Jj irnr i : 
(1) * mer (2) >i\iR 

20. A snack containing lag protein, 14g carbohydrate and 9g fat will 
provide how many kilocalories? 
(I) 177 (2) 132 

(3) 227 (4) 297 

'<'*'" 'lTW a>t>R, ~ 1 a "lIJll >i\iR 14 "lIJll if> 1 offij 1 ~~ "" 3ih: 9 "lIJll cmT i, "it 
"5!J'ij -,:r.n : 
(I) 177~~ 

(3) 227~~ 

(2) 132~~ 

(4) 297~~ 

21. The main function of vitamin K in the body is : 

(1) As a antioxidant (2) In the blood clotting 

(3) In vision 

m'R i'f fq,,"If~'1 '%' 'liT '3:&r 'liT'! i : 
( 1 ) Jlfu - 311 <ffi1 if> 1 (if> % <"'l i'f 

(3) ~ i'f 

8 

(4) In synthesis of protein 

(2) \'<Ii" "fIR i'f 
(4) >i\iR (j~@I~UI i'f 



22. The sulphur - containing amino acids are : 

(I) Leucine, isoleucine, metheionine 

(2) Lysine, methionine, cystime 

(3) Cysteine, methionine, cystine 

(4) Methionline, tryptophan, cystine 

~ ~ v:<iRf 31l<'f t : 
(1) "'1«11, 3i1.«1<,,{<n1, fl:If~~1;fi1 

(2) <.11.«11, fl:If~~1;fi1, feRl1 

(3) reM.1, fl:If~~1111, feRl1 

(4) flI~41;fi1, f~'<!lih feRl, 

23. Human milk is a poor source of : 

(1) Iron 
• 

(3) Vitamin K 

"'lR'I ~ R"1r<?lf~d 'liT ~ ~ t : 

(2) Protein 

(4) Vitamin B12 

(1) m (l(q (2) JitiR 
(3) f<121f~,"," (4) f<12If~1 oft

12 

24. Kwashiorkor and marasmus are associated with: 

lOP/244/2 

(1) Insanitary condition (2) Total undernutrition 

(3) Protein - energy malnutrition(4) Vitamin C deficiency 

"<11~~1('h( (I'l1 ~m+H1 R"1f<?lf~d "i=t lilkilf->i<l t : 
( 1 ) 3i ~ "0 d I q,'\ Gm (2) 'i"i R+1 <irnuT 
(3) JitiR - ~ "P4'I~ul (4) f<1211'H <it ""ffdT 

9 P.T.O. 
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25. The term of "IDD" (Iodine Deficiency Disorders) was introduced by : 

(1) Davis 

(3) Hetzel 

(2) Osborne & Mendel 

(4) Mulder 

~otki\o (d1I~hl'1 r"f4ir~~4 ~~) W"G f.p-<jr<'lr@<llffiT WIT 7fl!T : 

(1) ~ (2) 3lR<lR q ijosC1 

(4) ~ 

26. The normal blood glucose level in a healthy person is : 

(1) 60·90 mg/ 100ml 

(3) 80-120mgj100ml 

(2) 70-100mg/100ml 

(4) 120-160mg/l00ml 

1l:'l' - ~ ~ \iii" if '''iq;I''I "" ~ roj,4<'1r@<I -.wrr ~: 
(1) 60-90momo/ 100 mo.no (2) 70-100momo/ 100 mo.no 

(3) 80-120 momo/ 100 mo.no (4) 120-160 momo/ 100 mo.no 

27. The vitamin necessary for the synthesis of visual purple is: 

(1) Folic acid 

(3) Vitamin K 

(2) Vitamin A 

(4) Biotin 

~3TC1 'K'1C1 ~ <i~M~lol ~ full: 31lq~~'h r'l<!Ir'H ~ : 

(1) '!>Ir<'l'h ~ (2) rq~fA'11l: 

(3) rq~f~'1 ~ (4) "1~W'1 

28. Insulin is useful for: 

(1) Reducing the weight (2) Lowering blood cholesterol 

(3) Lowering blood glucose level (4) Increase blood glucose level 

10 
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~lIf<'l'1 f.j"1f<'lf@d ~ ful< dq><H t : 
( 1 ) q;i['[ 'li11 ~ i! (2) "" '*'1 <'I «; 1 ('I 'li11 ~ i! 

(3) ""' <"'[q, 1"1 «R 'li11 ~ i! (4) ""' <"'[q, 1"1 «R ~ i! 

29. Fresh fruits and vegetables are included in the diet as : 

(1) Body building food 

(3) Protective food 

(1) 'I!fu RAiul'Ii ~ 

(3) maj) ~ 

(2) Energy giving foods 

(4) All the above 

(2) o;;;rt Q<;I~'Ii ~ 

(4) dq1th"B.jj 

30. Which of the following foods contain cholesterol? 

(1) Spinach (2) Rice . 
(3) Egg (4) Groundnut 

R"1f<'lf@d 1.imli'i! <'i ~ '*'1<'1«;1('1 dqff'!lO mw t? 
(1) 1ffi1'Ii (2) ~ 

(3) 31UGT 
• 0 

(4) 'r1'h01 

31. Which of these foods items provide empty calories? 

(1) Sugar 

(3) Milk 

(2) Potato 

(4) Wheat 

R"1f<'lf@d i! ~ "ill ~ fun ~ ~ t? 
( 1 ) 'IJ'l;-u (2) 3lT<"'[ 

(3) ~'l (4) it{ 

11 P.T.O. 
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32. Which one of the following. is an example of dry-heating methods? 

(1) Broiling (2) Blanching 

(3) Stewing (4) Poaching 

f.j"1f""f<!ld it B ~ '1l"l'-<fTll M"I q;r aGIWI t7 

(1) ~1~f<'1'1 (2) C<.1if-<i'1 

(3) R"L"I (4) ~ 

33. The red colour of tomato is due to the presence of : 

(1) An tocyanin 

(3) Lycopene 

(1) ~{!I~f.H 

(3) (11~"N'j 

(2) Carotenoids 

(4) Chlorophyll 

(2) <\;{lfc'jT~",,*1 

(4) ""i){lflh (1 

34. The maximum amount of starch of wheat kernel is present in : 

(1) Bran 

(3) Aleurone layer 

(2) Endosperm 

(4) Germ 

iT{ iii GR it a~'<IdA ~ '!iT 111>1 aqffl!ld mm % : 
(1) O!R it (2) ~oil,,"4 it 

(3) ~"'i{T'j <llli? it (4) "f'l it 

35. Full form of F.P.O. is : 

(1) Food Products Order (2) Fruit Products Order 

(3) Fruit Preservation Order (4) Food Preservation Order 

12 



~ 0 -qr 0 ail 0 <jij "T'f <"'l t : 
(1) ~ ~S«:'" 31lil: 
(3) 'F rn"lC!~H 31lil: 

(2) 'F ~s'R,," 31lil: 

(4) ~ rn"l~H 31lil: 

36. Maillard reaction results in browning of foods due to : 

(1) Interaction between sugars and amino acids 

(2) Oxidation of phenolic compc>unds 

(3) Heating of carbohydrate 

(4) None of the above 

10P/244/2 

= -q l1<'Ili ~fdf'MI if; 'f>RUT m 'fR'IT 'J:.'T'R f.j"1f<.1f ... " if; 'f>RUT m t : 
(1) ~ 1l:"i ~ ~ 'Ii\ QI{PlR'h ~ 

(2) fih11f<"l'h 4WI'hl <jij 311<"Rll'h{UI 

(3 ) 'h I offill.~ <! 'iii awn'l"'h "<IT'1 'l\ 'Rll 'li<'I1 

(4) aQ1ffi -q if ~ 'f\i\ 

37. Temperature generally used to store the frozen foods is : 

f"I1lq;" wW if; ~ -q ~ "IQ~~ t : 
(1) 0° C (2) AO C 

(3) -15° C (4) -18° C 

38. Which of the following compound is added to the oil to avoid rancid­

"ty? 1 " 

(1) Vitamin A (2) BHT 

(3) BHA (4) Vitamin C 

13 P.T.D. 
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<9R! if<'! i! ~ ~ ~ q;f.t it full: f,"1f<'lf<lld i! B 'liB -m ~ wWT 
W:rr "lTd! i? 
(1) fqcifA11l; 

(3) "ij\o'0lo1l;o 

(2) "ij\o'0loilo 

(4) fqcifA1 m 

39. Candling is a method used to assess the quality of : 

(1) Milk (2) Meat 

(3) Eggs (4) Fish 

a;sf<ii'l W'I f,"1f<'lf<ll" qi\ ~Ol'''" "Iff\ %g ~ qi\ ;;mit i : 
(1) ",'I (2) "'liB 

(3) 3f1lS (4) ~ 

40. Following is not a sensory quality characteristic: 

(1) Appearance (2) Colour 

(3) Seed weight (4) Flavour 

A"1f<'lf<lld "Q!1i ~ "T'l q;] <'[!\JUT "1tif i : 
(1) 31T'lTB (2) \lJ 

(3) ~ 'W (4) wP" 

41. Snacks like chat and beverage are most suitable for serving in a : 

(1) Hospital (2) Old age home 

(3) Orphanage (4) College or school canteen 

<IT'! 3ih: ~ ;i\B "1!ict f,"1f<'lf<lld i! 'lirfR %g 34g'ffi i : 
(1) ~iff'1C<1 (2) %fWl 

(3) 3T1T'lT<1"'! (4) 'hIJi"l 'IT ~ <l>oi11 

14 
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42. Following is not a cooking equipment: 

(1) Food processor 

(3) Modular gas rang 

(1) 'fS ~1<"1m 
(3) 'lTq<'l{ ~ ~ 

(2) Microwave 

(4) Fryer 

(2) '11~"'I~'1 

(4) "lIiT'R 

43. Daily records of transaction relating to receipt and payment of cash 
are mentioned in a 

(1) Cash book 

(3) Sales book 

(2) Purchase book 

(4) Balance sheet 

mfi<l 31'h: :J'T'!R ~ TIT11'i\ "" ~ ft'IiTi f'l''if<'lf<lld it ~ M "lTd! t: 
(1) ~¥ (2) ~¥ 
(3) ~¥ (4) ~mz 

44. First step in management is : 

(1) Staffing 

(3) Planning 

""'" it 'W0T 'l<; t : 
(1) {<!IN;'I 

(3) 1'141<>1'1 

(2) Coordinating 

(4) Budgeting 

(2) (1'1"'141 

(4) ~"il1RT 

45. Food poisoning is an illness caused by : 

(1) Microorganisms (2) Toxins present in food 

(3) Certain plants and animals (4) None of the above 

15 P.T.O. 
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(1 ) '!.8.'Nn q I '!J (2) W<I if 3qr~d m 

(3) ¥l" 'nG'l q 'l'{l (4) 3Q1'<h if it m -;@ 

46. Amoebic dysentery is caused by : 

( 1) Bacteria (2) Virus 

(3) Protozoa (4) Fungi· 

3l!jjf'l'l> ilf<ffi f.p'1f<.1f<lid ~ 'lif{1lj m t : 
( 1) ~<R1R~1 (2) ~ 

(3) ~lcioil3!T (4) -
47. Keeping a watch on what is going on at the production, service etc. is 

called: 

(1) Supervising 

(3) Guiding 

(1) f.ffil\1UT 

(3) lJ1l! m 

(2) Directing 

(4) Reviewing 

(2) f1~1'1 

(4) ;rr:f.ffil\1UT 

48. Following is not a function of management: 

(1) Coordinating 

(3) Initiative 

16 

(2) Controlling 

(4) Planning 
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f.I "1F<'IF@<I ~ >WER <wl -:m i : 
(1) {lq",~Oj 

(3) '['141<1 

49. Following is a natural food: 

(1) Sauce 

(3) Wheat flour 

f1"1F<'IF@<I ~ Qlq;m'l> "@lj!j i : 
(1) "{lfu 

(3) it{"'f>T = 

(2) F14~ol 

(4) f1<i1"1Oj 

(2) Pickle 

(4) Apple 

(2) 3T'i'IR 

(4) it'! 

50. Characteristics of food which can be indentified by use of our senses: 

(1) Sensory qualities 

(3) Physical qualities 

(2) Chemical qualities 

(4) Palatability 

"@lj!j ~ % <'f!\lUT ~ 1rl 3l'l'ft ~ &:m qo~IOj "WIii\ t 'l>6<1ld i : 
(1) ~:I"l (2) m1l~f.I'I>:I"l 

(3) ~:I"l (4) {qif.;e<ll 

51. The first synthetic dye is : 

(1) Acid dye 

(3) Vat dye 

"If'l'l ~~<1M<I t>r<!> i : 
( I ) a:p:;f t>r<!> 

(3) W: t>r<!> 

17 

(2) Basic dye 

(4) Mordant dye 

(2) l\!R t>r<!> 

(4) ~ t>r<!> 

P.T.O. 
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52. Dyes suitable for: synthetic fibers: 

(1) Direct dyes 

(3) Disperse dyes 

(2) Vat dyes 

(4) Sulphur dyes 

f(1~fc'h il"'l! if; ~ f.j""f<'lf@d "G;rq; aq'!'ili % : 

( 1 ) g I ~{<'RO "G;rq; (2) <R"G;rq; 

(3) f;;f'1 tI "G;rq; (4) ~"G;rq; 

53. Dye molecules can be : 

(1) Anionic 

(3) Disperse 

"G;rq;~m~%: 
(1) l{'Mf.j'h 

(3) f;;f'1," 

(2) Cationic 

(4) All the above 

(2) ~cl.f.j'h 

(4) dq1'ili <l.n 

54. Naptholation process is carried out at temperature: 

~Lfl'ijM*1" ~ f.j""f<'lf@d dlq<h~ 'R 'Ii! omft % : 
(1) 65'C (2) 75'C 

(3) 85'C (4) 95'C 

55. Which of the following is the anionic dye? 

(1) Acid dye (2) Disperse dye 

(3) Vat dye (4) Mordant dye 

f.I~"f<'lf@d if ~ l{'1I~f.I'h "G;rq; %7 

( 1 ) "l{fus "G;rq; (2) f;; f'1 <i "G;rq; 

(3) <R"G;rq; (4) ~"G;rq; 

18 
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56. Dyes used for cotton fabric : 

(1) Reactive dye 

(3) Azoic dye 

<Ffi ~ 'l1: m ~ 'IlBT ~ % : 
(1) fl:tff<RCI ~ 

(3) V;ciI.", ~ 

(2) Direct dye 

(4) All the above 

(2) 61~l:'R ~ 

(4) aq'!u; ",n 

57. Infant's clothing should be selected primarily on the basis of: 

( 1) Growth feature 

(3) Appearance 

(2) Comfort feature 

(4) Safety features 

fu'ij % 'R'!~: PI '"" 1(1 ful 0 3lT'lR 'l1: "fl't ~ : 
( 1 ) -qf.i; ( 2 ) 31RT'l 

(3) 3lT'lffi (4) W8J1 

58. This refers to the surface quality of a .fabric : 

(1) Drape 

(3) Colour 

(2) Texture 

(4) None of the above 

fo,""f<'lf"d ~ qi\ ~ ~ WiG % : 
(1) ~ (2) 

(3) {rr (4) 

59. A small, oblong, metal device with teeth which caries the material 

along as it is stitched: 

(1) Feed dog 

(3) Throat plate 

19 

(2) Bobbing winder 

(4) Presser foot 

P.T.O. 
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'<'f' <WJ, "11~ld'lil( ~'iI~'ih '11ll 'liT aq'li(OI -<>IT ~ 'lit ~ iii WI'! a:rri'r 
'I<iTffi t 'Ii" <.11 d I ~ : 

(1) m sfTr 

(3) mc:W 
(2) 'Ii<R~ 

(4) i\m 'F 

60. True bias is a : 

(1) Bias cut on 450 

(3) Bias cut on 1800 

q I «1 f" 'Ii 'IT'rn ~ '<'f' : 

( 1 ) 4501:[( '!ili\ 1flil 'IT'rn 

(3) 1800 'R '!ili\ 1flil 'IT'rn 

(2) Bias cut on 900 

(4) Bias cut on 600 

(2) 90°'R '!ili\ 1flil 'IT'rn 

(4) 600 'R '!ili\ 1flil 'IT'rn 

61. Finger in which thimble is worn during hand stitching is : 

(1 ) longest/ middle finger (2) Smallest finger 

(3) Thumb (4) Index finger 

\!T'I q;l ~ iii WI'! f~ w;ft "!f.t 'lR'ft ~ ~ : 

(1 ) <1'ffi w<iT ~ / 11>2f'lT (2) -,;)ij ~ 

(3) • (4) %'l\~ 

62. A relatively short lived fashion: 

(1 ) Classic (2) Fad 

(3) Couture (4) Ford 

20 
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g"I'1I<A'f> <"'l.~ ~ Wf'f uf.t <lTill ~ i : 
(1) if<'If~'f> (2) 1I;s 

(3) ~ (4) m 

63. Water based pencils or crayons are called: 

( I) Aquarelles (2) Gouache 

(3) Graphite (4) Pastels 

'"'" an'lTffir Qf"*1i"1 'l1 ~ 'f>~i"Il<lI i : 
( I) ~\i"I (2) 7J1S'i! 

(3) Q'lil$<! (4) ~ 

64. Assembly marks are: 

( I) Notches (2) Cross marks 

(3) Perforations (4) All the above 

3i \l kj <.1l f'Rr i : 
( I) ~ (2) ;om '1I'f; 

(3) q\<hl'l:~11 (4) aq1i"h U.n 

65. Standards for a fit are: 

( I) Grain, set balance (2) Line colour, texture 

(3) Both 1 and 2 (4) None of the above 

~ ~ (fin2:) ~ ~ fuQ: l1R'f> i : 
(I) iR, ~ ,fI't!i"I1 (2) nm, "{Tr, 1'fO'l 

(3) aq1i"h <iRl (~q <iI) (4) aq1i"h if ~ ~ ~ 
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66. Basic bodice block is also known as 

67. 

68. 

(I) Sloper 

(3) Master pattern 

(2) Fitting shell 

(4) All the above 

~ "1'if.s~ ~ 'lit R"1r<ilRld .n ~ "lRfT t : 
(I) ~ (2) filiftrT ~ 

(3) = -&z;f (4) dq~'d>~.n 

Shawl collar is a : 

( I) Flat collar (2) Stand collar 

(3) Roll collar (4) Combination collar 

'I1R'! ~ h:q; 
( I) ~31~ (2) ~~ 

(3) U<'!~ (4) <hlr,,"~~I" ~ 

Mximum resiliency is found in : 

( I) Silk . (2) Polyester 

(3) Rayon (4) Wool 

d-ild~ <'lriI r1"1r<ilr@d if m t : 
( I) m (2) Lfif<ill{R{ 

(3) t'1f.r (4) WI 

69. Fullness in garment can be achieved by the use of: 

(I) Darts 

(3) Tucks 

22 

(2) Pleats 

(4) All the above 



lOP/244/2 

41~1I'h if A"1f<'lflllct 'iI; wWr B itt >ff1<l ~ "IT ~ t : 
(I) ~ (2) ~ 

(3) CoRl 

70. Mahishwari and Chanderi sarees are from: 

(I) Delhi 

(3) Hyadrabad 

(2) Ahmedabad 

(4) Gwalior 

~'!lft am ~ {11f$~i A"1f<'lf@ct <>1R 'liT t : 
(I) ~ (2) d1"~<;I~I<; 

(3) ~<;\I~I<; (4) ",If<'l~( 

71. Patola sarees are from: 

(I) Bhopal (2) Bhubaneshwar 

(3) Gujarat (4) Punjab 

~ {11f$~i f-j"1f<'lf@ct <>1R 'liT t : 
(I) ~ (2) '¥f'\m 
( 3) :J"Rl<I (4) $rriI 

72. Angora wool is made from hair of : 

(I) Goat 

(3) Sheep 

(2) Rabbit 

(4) None of the above 

a#tu "3;;[ A"1 f<'l f@ct 'iI; 'lR'i'i B "iI'f<fi t : 
(I) ~ (2) lll('n~1 

(3) ~ (4) aqgu; if B ~ '1@ 
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73. Batik printing originated from: 

(1) Java 

(3) India 

(2) Japan 

(4) None of the above 

~ fl!fVT 'fiT H"1f<"lf<!l<1 <'!!R it ~ §;31T : 

(1) -;;ncrr (2) i;fJ1lR 

(3) 'IT«! (4) aq1a; i:i it ~ 1'@ 

74. Soap that has equal quantity of fat or oil and alkali is a : 

(1) Mild soap 

(3) Neutral soap 

(2) All purpose soap 

(4) Bar Soap 

~, ftrni:i WlR = i:i <rnr <IT im am: 2;1TnitOJ t 6fi~<1I<11 i : 
(1) ~ ~ (2) Wffif wi1"1'1 ~ 

(3) ac;lliil'1 ~ (4) 'lR"ffiq 

75. Safe ironing temperature for silk is : 

(1) 355'F 

(3) 370'F 

(1) 355''hI{'1~1.2 

(3) 370' 'h1{'1~1.2 

(2) 300'F 

(4) 325'F 

(2) 300' 'h1{'1~1.2 

(4) 325' 'h1{'1~1.2 

76. Luster of fibers can be reduced through: 

(1) Sodium Hydroxide 

(3) Diphosphate 
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(2) Titanium dioxide 

(4) Potassium dichromate 



(1) ~f;;~4 ~1.1Iiffil.:S 

(3) :S1~4iI0;~ 
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(2) ~1.~f.j~4 m31liffil.:S 

(4) 41?fill~4 m ~ 

77. Denier is the term applied to the strength of : 

78. 

79. 

(1) Fiber 

(3) Fabric 

(2) Yarn 

(4) Cotton 

gf.j~{ W'G f.j"1f<1f<!ld q,'\ W'!ozI tl ~ itaT t : 

(1) ~ (2) ~ 

(3) ~ (4) 'lft;f 

Example of high density fiber is : 

(1 ) Glass (2) Cotton 

(3) Acrylic (4) Nylon 

"3""1 "f'I<"! 'ITS ~. "" d <; I ~ { 0 It: 

( 1) T('Iffi (2) 'lft;f 

(3) IIfol f<.1 «; (4) 'illl'iH 

Dacron·and terylene belong to : 

(1 ) Nylon (2) Aramid 

(3) Rayon (4) Polyester 

~ q ~\lf<.1'1 R"1f<.1f<!ld B <1l<!f"'fG t : 

( 1) '1T~'11'1 (2) ~flH; 

(3) m (4) q'jf<.1lR2{ 
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80. The only fiber which contains sulphur is : 

(1) Cotton . (2) Jute 

(3) Silk (4) Wool 

""'~I~ ~ f;miY ~ m<rr t R"1r<.1r@ct % : 
( 1 ) q;'fc'j (2) ''If 
(3) ~ (4) ~ 

81. The minimum number of harnesses in a loom is : 

1l:'I> <'!:l i'f "{'1 ct ~ ~ 'lit ~ % : 
(1 ) 1 (2) 2 

(3) 3 (4) 10 

82. Muslin is made up with: 

( 1) Satin weave (2) Sateen weave 

(3) Twill weave (4) Plain weave 

~<1W1 r-1"1r<.1r@d "" WU "l'll'lT "ITd1 % : 
( 1) <lfu~ (2) miR~ 

(3) ~~ (4) <ffi~ 

83. Carbonizing is a chemical finish applied to : 

(1) Cotton 

(3) Rayon 

(1) q;'fc'j 

(3) m 

(2) Wool 

(4) All the above 
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84. Kantha work is mainly carried out in : 

(1) Andhra Pradesh 

(3) Karnataka 

~ q;] q;p:j ~: ;imr t : 
( 1) 31Ri!"l1~~ if 
(3) i"hHf2'fi if 

(2) Bengal 

(4) Orissa 

(2) ~if 

(4) ~if 

85. Which of the following is not a skirt measurement? 

(1) Wrist (2) Waist 

(3) Hip (4) Skirt length 

R"if<'lf@d if "il <li'R ~ <f.r 'lJ1l "'It! -g : 
(1 ) ~ (2) <PR 

(3) ~ (4) ~'!i\~ 

86. The study of the aged and ageing persons is termed as : 

(1) Geriatrics 

(3) Geology 

(2) Gerontology 

(4) Geography 

~"Q?i d~~{I"I <'iri\ iii 31"'!'R'li\ "<.lim omn t : 
(1) f"R~If~<ru (2) f"iI.-i1C'1T41 

(4) f,,41~Iq,l 

87. How long a person actually lives is : 

(1) Longevity (2) Ageing 

(3) Life span (4) Life expectancy 

lOP/244/2 
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~ "'lfu; <mil'! if f'!;<A\ 3l'If« <fi.t; -;;f\f<rn ~ t _*'11 <II t : 
(I) ~:ms (2) ~ 

(3) ~m (4 ) ~ Q!fq,gfll 

88. Chromosomes in autosomes are: 

(I) 20 pairs (2) 18 pairs 

(3) 23 pairs (4) 22 pairs 

<>llil«l~ if f-1'"1f<'lf@<I "'l~l\il~ 3qff'10 -m t : 
(I) 20~ (2) 18~ 

(3) 23~ (4) 22~ 

89. Ovum con tains : 

(I) X chromosomes (2) Y chromosomes 

(3) Both X and Y chromosomes (4) None of the above 

~if-mt: 
(I) 

, , , 
'<'Rl '" llfl fll ~ (2) ~ ihl~lfll~ 

(3) 31'h: ~ G'Ri' '" '<'Rl "'18Ifll~ (4) aQ1'<h if B ~ 'I\fi 

90. Genetic make of a person is denoted by : 

(I) Phenotype (2) Genotype 

(3) Genetics (4) None of the above 

M "'lfu; q;r 31j;<,iflll", "5!'l>R f-1'"1f<'lr@<I B ~ men t : 
(I) fIl;11cl~Q (2) "jj11C1~Q 

(3) Ji~fc'f(l (4) 3Q1'<h if B ~ 'I\fi 
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91. AIDS stands for: 

(1) Acquired immune defense system 

(2) Acquired immune defense syndrome 

(3) Acquired immune deficiency syndrome 

(4) Assured immune deficiency syndrome 

~ q;r 'L"f <"'! % : 
(1) il!'l"Il~il ~ f;;il>"8 fBR4 

(2) il!'l"Il~il ~ f;;il>"8 ~Hi14 

(3) llf'11~il ~ f;;fihf*1~'"(11 fB"914 

(4) ,,~~il ~ f;;fihfB~4 f*1"914 

92. Delivery of a baby by surgical removal from uterus is termed as : 

(1) Normal delivery 

(3) Natural child birth 

(2) Cesarean delivery 

(4) Prepared child birth 

~ fu'!l q;r Tf'lW:! it 'iR"! f'lfqiffil );RT f"i'hl<.'l "'h1: ~31T "F'l 'h"<.'II<l1 % : 
(1) *1141"1 f;;<.'I"Ii'Hl (2) fB<ilfl:~'i fMili'Hl 

(3 ) ~ lili RI 'h fu'!l "F'l (4) *'nft );RT fu'!l 

93. Following is a standardized test of infant's mental, motor and behav­

ioral development: 

(1) IQ test 

(3) Anthropometry 

(2) Home test 

(4) Bayley scale 

f"i"1f<'lf~<I fu'!l q;r 4I'ifB'h, litc:l: 1(Ci ~q"Ifl:'h fq'hl*1 1Jll:R q;r ~ 41'i'hl'Ji<l 

'R12:JUT % : 
(1 ) 

(3) 

31r{<;<{& 
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(2) -,;'tq & 
(4) ~~ 

P.T.O. 
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94. Ability to identify a previously encountered stimulus is called: 

(1) Retrieval 

(3) Recall 

(1) R~I~qc'l 

(3) Rq;I<'I 

95. Best parenting style is : 

(1) Authoritarian 

(3) Authoritative 

i'IT<'I'! 'IT<'I'I 'f>I "B'ffi ~ 1ffiq;r t : 
(1) ll:~IR2R~'1 

(3) ll:~IR2r"q 

(2) Recognition 

(4) Memory 

(2) Rq;fi'1~H 

(4) 1'\lim 

(2) Permissive 

(4) Neglectful 

(2) 4(rAr*1q 

(4) 1'1' cl OR :f <'I 

96. Sexual activity involving a child and an older person is called: 

(1) Physical abuse 

(3) Sexual abuse 

(1) ~1I(lRq; 5>04q~1( 

(3) <it.! 5>04q~1( 

(2) Neglect 

(4) Emotional abuse 

(2) 1'1' clOR 

(4) '1lql,Aq; ,,04q~l( 

97. Surgical removal of uterus is called: 

(1) Mammography 

(3) Hysteria 

30 

(2) Endoscopy 

(4) Hysterectomy 
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~ flIi<n IlJU 7j'1f>w:r f·Fh I i.'HI 'MMI<l1 t : 
(1) ~41~1q;1 (2) ,<usl%l<il 

(3) fl;R1R~1 (4) fl;~{<RI41 

98. Full form of HRT is : 

(1) Hormone root therapy 

(2) Hormone replacement therapy 

(3) Hormone response therapy 

(4) Hormone response test 

1l:'! 0 31R 0 it 0 "" 'f1l <"'l t : 
(1) ~Rm 

(3) ~ Rfl1Hl m 
(2) ~ R0I*l~'i! m 
(4) ~ Rfl1Hl m 

99. 'First mendtruation in girl is called: 

(1) Menarche (2) Menopause 

(3) Maturation (4) Adolescence 

(1) f~'il<t 

(3) ~""I{~I'i 

(2) f~;fiql"l 

(4) f'h~iI(I'H"l1 

100. Eating disorder characterized by self starvation is : 
(1) Bulimia (2) Anorexia nervosa 

(3) Obesity (4) Overweight 

<lIR ~ ~ f"l*lihl m '!i't 'l'fi f·HI~IR<l1 <'!8J1lT t, 'MMI<l1 t : 
(1) ~f<1f~~1 (2) ,<~{f<ru~I"'f<'ifuT 

(3) a{1~ftl~l (4) ai'lm i\c 
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101. World consumer's Right Day falls on : 

(1) 15"' March (2) 15,h June 

(3) 26"' October (4) 26'" December 

m'!l O'l~ fc;cm ~ ~ : 

( I ) 15 l1T'i'f <it 
(3) 26 31,,<~\ <it 

(2) 15 "B <it 
(4) 26 fG>:F~\ <it 

102. The Agmark certification of any product assures the consumer re­
garding: 

(1) Correct selling practices 

(2) Correct weight 

(3) Correct physical & chemical product 

(4) All the above 

''{'14Ie1;' W1J11I O'l~ <it ~ 'fit f.j"1f<'lf@d om! "" ftm: Rfffil 'l>\dl ~ : 

(1) -mft ~ OlIq61{ 

(2) -mft 'IR 

(3) ~ q mMRi'f> ~ B -mft ~ 

(4) aqg",-.r.n 

l03.It is a focal point around which other resources are allocated and 
used: 

(1) Money 

(3) Skill 

(1) 'B 

(3) ~ 

32 

(2) Time 

(4) Energy 

(2) <111'! 

(4) '3WIf 
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104. The initiator of message in communication process is : 

(1) Sender 

(3) Format 

~ flIi'lI i! ~ '<iT >!R'fq;" t : 
(1) m 
(3) >fR"1! 

(2) Receiver 

(4) Message 

(2) ~ll{I'fi<lr 

(4) ~ 

105. Which among following is a material resource: 

( 1) Skill (2) Intelligence 

(3) Creativity (4) Car 

f.!"! i! i\ "'fiR ll:'fi" 'RJ2! m'R t : 
(1 ) ",i~l(1 (2) ~;roG:AI11 

(3) (iI"ikl""lCfldl (4) "'fiR 

106. Line drawing in scale showing a picture of the side of house is called: 

(1) Blue print 

(3) Elevation 

(2) Perspective projection 

(4) Isometric projection 

ll:'fi" 'R i! ll:'fi" <R'Ii '<iT W;(1lj<1i( "fuitq m 'fi\<(1I<11 t : 
(1) "1, flR: (2) q,>!lf'Rq lil<ll~I'1 

(3) '«'il~~I'1 (4) 311.B1Af~'fi sil<il~1'1 

107. Best location of kitchen in a house is : 

(1) East 

(3) North 
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(2) West 

(4) South 
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'l1: if ~ '1ft \icif'<l~ ~ ~ : 
(1) ~ 

(3) "3<R 

(2) -qfWj 

(4) -,j'!(fUl 

108. Highest amount of presure can be borne bu : 

( 1) Sandy clay (2) hard clay 

(3) Rock clay (4) Red soil 

PI"1r",p,j(1 M''l'l' <i'iT'f m if <l&m % : 
(1 ) ~3lT~ (2) ~~ 
(3) 'l~~ (4) <'IT(1~ 

109. Light and dark strpes on a zebra rug tend to creat : 

(1) Harmony 

(3) Confusion 

(2) Rhythm 

(4) Exci temen t 

'<'f' ;itw if; 1<.41 'I 'R ~ Of ~ mW:n ~ 'IiTill t : 
(1 ) 31,"!~qdl (2) <'T'f 

(3) WI (4) -:mmr 

110. Proportion is often referred as : 

(1) Scale (2) Volume 

(3) Perspective (4) None the above 

31'j'Il<! q;] ~!;1 ~ ~ : 

(1 ) ~ (2) q I('I'L~ 

(3) q,tilroRq (4) aq1Ui if"i\ ~ -;@ 
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111. The surface structure of a material is known as: 

(1 ) Pattern 

(3) Design 

f'f;Bt ~ 'lit "ffi!l1 >A ('q "Ion" <'II <iI ~ : 

(1 ) ~ 

(3) f.s"lI~'1 

112. Which colour has natural hue: 

(1 ) Red - orange 

(3) Steel - grey 

1'11"1 f<'l f(s1<1 i! it f<!;B "M i! "l0'f ~ ~ : 

(1 ) <'Iffi - 'lWft 

(3) -RR - it 

113. Blue geen is a : 

(1) Stimulating colour 

(3) Dominating colour 

-;fton - w "M ~ : 
(1) il\q;"M 

( 3 ) >I'f<'f "M 

(2) Texture 

(4) Textile 

(2) 7fO'! 

(4) 2'IBcl~<;1 

(2) Yellow - green 

(4) Red 

(2) ~-W 

(4) <'Iffi 

(2) Advancing colour 

(4) Receding colour 

(2) 3i~'"41"M 

(4) ~g'"~I"M 

114. It is 'type of heat resistant glass used for surface cooking: 

(1) Borosilicate 

(3) Alumina silicate 
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(2) Soda lime glass 

(4) lead glass 

P.T.O. 
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~ ~ 'l'f>R qij ~ if ~ <IT'Iilm q;fq t : 
(1) oli<lr~r<1,"2 (2) ~ ~ 'Bm 

(3) 'R1'1f~~1 r~r<1,"2 (4) <'Is 'Bm 

115. To prevent darkening, copper finished utensils are coated with : 

(1) Lacquer 

(3) Stain 

(2) Shillae 

(4) Varnish 

oiorr ~ "if<R qij ~ tit't ihl<¢.\ "i\; ~ O'! "tR -.il2 m t : 
(1) ~ (2) ~ 
(3) -Ro (4) '!Tf.m 

116. Egg beater is a : 

(1) Appliances 

(3) Tool 

'<'T~t~ : 
(1) l{'<'II~~ 

(3) <i?T 

(2) Utensil 

(4) Pot 

(2) "if<R 
(4) '!f5! 

117. The Trade name of titanium type steel used to manufacture house­
hold equipment is : 

(1) Hard steel 

(3) Ti Namel 

(2) Soft steel 

(4) Eco--namel 

~dqi.fi{OI "ifo1f.t if ~ 21.<!R~~ qij OW ~ "i.fiT ts 'fq t : 
(1) mt~ (2) m<R~ 

(3) ~~ (4) "¢t~ 
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118. The process of coating a base metal with zinc to protect it against 

rusting is called : 

(1) Galvanizing 

(3) Polishing 

(2) Varnishing 

(4) None of the above 

"'" 31T~ 'l1l! q;J oM '" ~ ~ -.i\ 'T'i\ -;;ffi\ -.i\ qi)fiTT -.i\ ~ "*1101 

~: 

(1) ~'Il.foj'l 

(3) <iif<"lflii'l 

(2) <"Ilf~flii'l 

(4) dqg"ih -q '" ~ ~ 

119. The unit of measuring electric resistance is : 

(I) Ampere (2) Ohm 

(3) Volt (4) Walt 

f<Iwr "lI'fcRt'l lJllf.t -.i\ ~ ~ : 
(I) Q!4l~{ (2) 3i'm 

(3) ~ (4) ~ 

120. The complete path through which the current travels form one termi­

nal of the genetator to other is known as : 

(1) Open circuit 

(3) Short circuit 

(2) Closed circuit 

(4) Ground circuit 

cil'1{c{ ~ "'" cf4'1ii1 '" 3Pl cf4'1ii1 "'" f<Iwr "lI"IJj) "" ~ '1"l iMiilW11 ~ : 
(1) ai'm~ (2) ~~ 

(3) wi ~ (4) JITd"'5 ~ 
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121. Fuller's earth is a : 

(1 ) Grease solvent (2) Grease absorbent 

(3) Detergent (4) Polishing material 

'~ 31.:[' il "('I"Rq"lj t : 
(1 ) Jftor f'l <.11 ~ 'Ii (2) Jftor 61 q ~n ~ 'Ii 

(3) fUdie (4) qlf<:1~i'l ~ 

122.Many of the derergent powders contain polyphosphated which acts 
as: 
(1) Water softeners 

(3) Emulsifiers 

(2) Water hardners 

(4) Bleaching agents 

~ il f.sedk ~ ij'lT<'fr q;Me WI t ;;it f.r<;j q,'j "(!W q;f1l q;f<t t : 
(1) = *1ltR'1{ (2) = ~ 

(4) ""lfii'l ~ 

123. One- of the tools is the management of time is : 

(1) Work units (2) Work curves 

(3) Time norms 

<l'f1l "5fif'>R "" "lffi" ~ ~ t : 
(1) q;f1l .'lil{~i 

(3) <l'f1l-.,m 

(4) Time plans 

(2) q;f1l""," 

(4) <l'f1l ~ 

124. Basic component of work place are: 

(1) Work surface, storage and appliance 

(2) Work place, work surface and appliance 

(3) Work surface, work place and worker 

(4) Worker and work place 
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q;1'l ~ 'iii 3lT'lR'r'f ~ % : 
(1) q;1'l~, 'J1TW: "Q!'i 34'h,01 

(2) q;1'l~, q;1'l ~"Q!'i 34'h,01 

(3) q;1'l ~, q;1'l ~ "Q!'i 'h14'h~f 

(4) 'h14'hd"Q!'i q;1'l ~ 

10P/244/2 

125. Which of the following is the function of communication: 

(1) Information 

(3) Persuasion 

(1) ~ 
, 

(3) Iilffil~'1 

(2) Instruction 

(4) All of the above 

, 
121 .~ 

HI j4S*, "lm 

126. Which of the following is a tool of PRA : 

(1) Time list 

(3) Venn diagram 

(I) Wl'!~ 

(3) <R 61~~IA 

(2) Transact walk 

(4) All of the above 

(2) ~1;;jiR crrq; 

(4) 341m ~m 

127. Which if the following is an example of individual approach: 

(1) Group meeting (2) Lecture 

(3) Workshop (4) Fair 
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R "l f<'l f@<1 if 'lit.! 1l:'li "" f'li' 1 <1 ~ ~ :' 
( 1 ) *11 'Ifi; if; B'l[ (2) 'If'!UT 

, 
(3) if;1l{~II(11 

128. The term extension is of : 

(1) Greek origin 

(3) French origin 

Q!ffii!'~11 WiG ~ : 

( 1 ) 'lftq; ~ 'Ii1 

(3) ~ ~ 'Ii1 

(4) itt'1T 

(2) latin origin 

(4) German origin 

(2) ~~'Ii1 

(4) "f'f1 ~ 'Ii1 

129. The frist K. V. K. established in 1974 at : 

(1) Pondichery 

(3) Birsa 

(2) Sriniketan 

(4) Cu1cutta 

1974 i! >!'Ill ,,"0 <!to ,,"0 qf) <"IIQ11 ~ oft : 

(1) qifs-<i,l i! (2) ~R~<11 i! 
(3) f,mn i! (4) if;(1if;~1 i! 

130. Which of the following is an example of sywobolixed visual aids? 

(1) Poster 

(3) Radio 

(2) Slide 

(4) None of the above 

R"lf<'lf@<1 i! B 'lit.! 'ffi ~ffiif;Ii<1if; ~ 'ffi'R 'Ii11l:'li a<;I~(OI ~ ? 

(1) ~ (2) M~6 

(3) ~ (4) aqgffi i! B ~ -;ffil 
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131. Which of the following type of projection is used in slide projecter : 

(1) Indirect projection (2) Reflected projection 

(3) Direct projection (4) None of the above 

011,s IiICi<R( if f.j"1f<:'lf,,(j if "i\ ~ >!'IiR 'liT ~IJi'fliI'1 ~ ~ t : 
(1) ,'1sl~l:<R ~IJi'fliI'1 (2) R<MeRs lIIJi'fliI'1 

(3) SI~l:<R ~lJi'fliI'1 (4) aQ1Ui if"i\ ~-;@ 

132. Following is an audio-visual aid: 

(1) Television (2) Chart 

(3) Radio (4) Overhead projector 

A"1f<:'l f .. (j 1% ~ <;'I'l UT'R t : 
(1) ~<'Ilfq"l'1 

(3) l:WiT 

(2) ~ 

( 4 I 3-i\q( ts ~lJi <R ( 

133.In a normal adult the heartbeat rate per minute is : 

*11 BI"1 ~ '1:I"'! if J:Ifu fiT'1c &G'l ~ "!Jfu m t : 
(1) 72-80 (2) 70-75 

(3) 80-97 (4) 82-87 

134. Which one of the following is considered to be an easily digestible 
protein source : 

( 1) Egg albumin 

(3) Fish 

(2) Soybean 

(4) Red meat 

1'1"1f<:'lf,,(j if "i\ ~ 1% 'lit 31RlR\ "i\ ~ <W'l >i'tiR - -@<r l1RT ""IT<!! t : 
11) ~ 'liT 10I"'!f~'1 (2) \<1~1<il1 

13 ) ~ (4) i"1T"<'I llffi 
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135. The specific odour of garlic is due to presence of: 

(1) Chlorine containing compounds 

(2) Fluorine containing compounds 

(3) Nitrogen containing compounds 

(4) Sulphur containing compounds 

<;'I6fl'1 qij ~ 7J"'l R"1r<"lr@<I qij aqr~ i\; ~ m<IT i : 
(1) #11,1'1 ~ ~ (2) 'F'LafI,l'1qffi <IInlili 

(3) '11$~1"I'1qffi ~ (4) <1('lh{qffi <IInlili 

136. The pH of pure water is : 

~ 'iK'f "'liT 1ft 0 10! 0 '1R .,;trr i : 
(1) 1 

(3) 7 

(2) 6 

(4) 10 

137. The transition period from infancy to childhood is known as : 

(1) Early infancy (2) Early childhood 

(3) Childhood (4) Early adolescence 

~ it ~ I <"II cH>11 "'liT q I (>1 ~ '1 "iliT<;1 ili ,WI I <II i : 
(1) ~~ 
(3) ~1<"II'Wql 

(2) ~ ~1<"Ilqf1'.11 

(4) ~ r'h~n{lCl>i<l1 

138. The stage of child from birth to four weeks is : 

(1) Neonatal 

(3) Infancy 

(2) Prenatal 

(4) None of the above 

~ qij "f"1 it 'CfR ~ <fC!; qij 3l'W1J ili6 <;'II <II % : 
(1) R4I~<!<;'I (2) F5i~<!<;'1 

(3) ~ (4) aqgffi 11 it ~ -;ffi\ 
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139. Development proceeding from near to far is called: 

(1) Cephalocodal (2) Longitudinal 

(3) Horizontal (4) Proximodistal 

'1"1~1'h -B ~ '!it :om tiFt 'IT<'!T f'l'hI*1 'h~0Idl t : 
(1) fliiQ;,,;I'hl:s0 

(3) ~W"l'i00 

(2) 0T'nOjfs'10 

(4) J(1'fBl<llfsR0 

140.A progressive series of orderly, coherent changes leading toward ma­
turity is : 
(1) Growth 

(3) Development 

(2) Physical growth 

(4) None of the above 

qn: q 'fOld I '!it :om <'t "lR qy.ji o'~qff111d q 'dfi'ld qn:4;JY'!it '<'Ii" WTI'il ~ 
'h~01d1 t : 
(1) ~ 

(3) f'l'hI*1 

(2) ~1I(1n:'h '!fu 
(4) 3Q'ii'h ii -B m ~ 

141. The tubular structure on each side of uterus is called: 

(1) Ovary (2) Fallopian tube 

(3) Ovary tube (4) None of the above 

,,~ "" m :om '1f<:1'hI'hI( fi(<j'11 'h~0Idl t : 
(1) 3l0$1~1~ (2) 4;~f4~'1 ~ 

(3) }JUsl~l~ ~ (4) dq'ii'h ii -B m ~ 
142. Followmg is an inxstrumental value: 

(1) Art gallery 

(3) Production of fan 
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(2) View of sun set 

(4) None of the above 
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f.j "1 f<'l Rl(1 lJ!'Ii a q if> { a n ~ 'I:"'l i : 
(1) "li"<'fI oi\?j\ 

(3) -W:"'fiT a<'lI~Oj 

(2) 'i~f«l"'fiT <;V'! 

(4) dq~u; if B ~ ~ 

143.Following is a tool of management: 

(1) Hierarchy (2) Unitary direction 

(3) Payment of remuneration (4) The organization 

R"1f<'lf@d ~ "'fiT lJ!'Ii BT'R i : 
(1) ~m'l>l 

(3) 1J1ft'llflft;"'fiT 'Tf<lR 

144. World Diabetes Day falls on : 

(1) 15" March 

(3) 24th Decenber 

m'!l 11':&0 fl::<m l1¥lT "ffiIT i : 
(1) IS11Ff'lit 

(3) 24 f~<1k1{ 'lit 

145. Work simplifiction means: 

(1) A change in work habits 

(2) 'lfr2:{1 '51~l:if'l10j 

(4) 3i1if.1I.ciI~IOj <ni 

(2) 24" March 

(4) 14" November 

(2) 24 ~ 'lit 

(4) 14 OJ'lkl{ 'lit 

(2) The use of labour saving devices 

(3) Organizing functional work space 

(4) Developing skill in work activity 

"ifiT'f m <11 if> { a I B <fT<'l'l i : 
( 1 ) "ifiT'f <!iT 31IG<! if ~ <; ('II q (2) Wl "R(! BT'l'ir "'fiT m 
(3) <j; if'I H ('I if> 14(>f<'! "'fiT "w:n"l OJ (4) ~ 11 'PI ('Id I "C'IRT 
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146. The use of money for the purpose of making of making more money 
IS : 

(1) Compulsory saving 

(3) Financial management 

'R "" 31f_ 'I oil QI<if'1 tl m t : 

(2) Investment 

(4) Saving 

( 1) 311"H ~ 'Ii "ifi'I(f (2 ) f<'l R >ill I 
(3 ) ~ >f'i'i" (4) "ifi'I(f 

147.Means through which individual can become part owner of the com­
panies : 

(1) Stock and Shares 

(3) Promissory note 

(2) Bonds 

(4) Insurance policy 

RlOif0f@(I it i! 1l:'l> 01lfu; ~ "" 3lifuq; ~ it ~lf0'1i iiR <T'Ii"iIT t : 
(1) ~ or ~ = (2) CfT'S = 
(3) ~lf~m1 -;jR; = (4) ~~~'I1:{1 <iff0{1"1 = 

148.An agency of India engaged in periodic diet and nutrition surveys is : 

(1) ICAR (2) NNMB 

(3) WHO (4) FAO 

'lffi! it <1"'P< - <1"'P< 'R 31WR '<'" ~ "" <fof8J1'T "'Ii"<R CfTC'il m>m t : 
(1) ~o-mo,<o31Ro (2) '<'1o'<'1o~o-.ijo 

(3) ~o10foaTIo (4) v:<Ii"o,<oaTIo 

149. CFTRI is situated at : 

(1) Bangalore 

(3) Hyderabad 
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(2) New Delhi 

(4) Mysore 
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-m 0 v:'l' oil o am: oam 0 WI<! t : 
( 1) oj'l<'ih i\ 
(3) ~~(Iijl~ i\ 

(2) ~~i\ 

(4) ~i\ 

150. The formula for calculating BMI is : 

(1) Weight/height 

(3) Height/weight' 

oil 0 "" 0 am 0 '!i\ 7J11RT %1! 'l:! t : 

(2) Weight (Kg)/height(ml' 

(4) Height/weight 

(1) 'lR I ~ (2) 'lR (f'lio"![o) I ~ (ljjo)2 

(3) ~ I 'lR2 (4) ~ I 'lR 
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ROUGH WORK 
m;q;T<f 
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1. \IFf gf«l"" fl'r<;r;'r <f; 10 fIRe <f; ~ ;j\ w <'t fin mq~ if <r4\ '!'" ~ ~ 3/R ~ 
\IFf 1{P "'fill ~, gf«l"" <:)"g"ffi wl "O!T'f '1'1 ~ ~ ,Ii""01 <nil! f.'R\1lfi!> i!>T ~ 
~ ''''1q~ <it ~ gf«l"" l!l'<I "" -R, 

2. 'l"OOT 'l'R if r.,,,,,,,,, ~ JIffl.<r-JI <5 313l1fr1'i)j~~qu". fWsrr <IT w<a ~ >ft WIT <!>T'fO! ~ if 

" OfTIl, 
3. Qffi.q?[ 3fi17T ~ ~ 'T'lT ~, ~ ., at # aft< ., "1ft f<qm off I 'i!ffl i'Tff'!-<r-JI '11fT 
~ """'" I ~ i'Tff'!-<r-JI 'fiT "1ft '1.,"I[ip1 fit;w ufl~"'1 

4. 3!'RT 31:1R"'/ip F/Wf i'Tff'!-<r-JI 'fiT RHfiq; Jm1f ~'['O Iff q., ff f.Imfur ~ '1'1 

~, 

5. i'Tff'!-<r-JI <5 Jm1f '['0 Iff q., ff Jf'Fff 31jiP"/ip f.lEIffffl ~ Iff fcl& F/Wf oft;t ffl<t '[fIT 
q;'r 7ffi!T if'\' ~ I iif1ff -iif1ff 31Wlqip m- 7fiJf ~-!lffflip, 'fiT RHfiq; rr.". &c 'fiT "f"Rf'( 

'3ffrrr 'fIlIT'if Iff fcl& I 
6. oito 1/'10 ,*,0 q?[ '1'1 31:1"''';''' ~, \IFf-gf«l", , ~ q ;ffc ~ (~ ~ tit) <1m 

\IFf-gf«l", , '1'1 "':I"''';''' ~ 3/R oito 1/'10 ,*,0 q?[ ~ <it "~f&o~l if ~qR01"''1 <it 
3Ij'lfu "'fill ~, 

7. ~q1"" "~f&o<ii if ~ >ft qRod'1 <nil! f.'Rl1l!i!> llRT "",fil'd oRr ~ 3Rlm 'lO "'" 

3Ijfmr mwr <!>T >r<Wr '1T'!T ~ , 

8. \IFf-gf«l '" , if >l<'l<!> \IFf <f; 'IR '"~ ",,.a~"""'''' Qffi Ri\ 'l'l i!, fIf'f;t; ~ <5 4ipf?Jip i'Tff'! <5 
~ ilfIT1'Iil" i'Tff'!-<r-JI ilIt ",,,,f.';;d r:ff<;rr <5 'I1'I'Ft ffl<t .,,-it '[ff q;'r i'Tff'!-<r-JI <5 II"" '['0 Iff 

ffl<t .,,-it f.rhff <5 3/ji/1IV q., ff 7ffi!T 'ifWfT ~ I 

9. >l<'l<!> \IFf <f; Qffi <f; fRil ~ "'" ;j\ '[<i' i!>T 1J1ifT 'lit, "'" ~ 3Ifi:!q; '1'1't i!>T 1J1ifT m 
'1'1 31= "'" '[<i' i!>T 3!'r'f '1x-'r '1'1 q;< Qffi 7fi1(j '1T'!T ~ , 

10. Eilff'f ~ ~ f{ifi iff'( <'111ft l[ffl 3I'fit;rr i'Tff'! 'fifflT '11fT Uf/ 'I1'/RrT ~ I ~ 3I1'l f<lR1T \IFf 
<!>T i'Tff'! '11fT <Rr 'ifTiffl t. <iT ~ qfiI<l <f; "ffi'R Ri\ 'l'l <r4\ '1'1't i!>T ~ '*" ~, 
~ w-if '1'1 'Il"I 3iq; Ri\ ~, 

11. '1'1' <!>f1l <f; fRil "" gf«l '" , <f; ~'" ~ '" <f; 3iG<: iffi'ff '!'" <1m 3if<'m ~ '!'" <!>T I!<Wr 
'lit, 

12. ~Iffi <f; ~q"", ~ JTto !!'fo 311<0 i1ffl'-<r-JI;j\ ~Iffi 'l'R if Uf'!T 'lit, 
13. ~Iffi 'R'!1'<l 1M ~ ~ ~Iffi 'l'R ~ ilWI "O!T'f <it 3Ij'lfu "'fill oMt , 

14. ~ ~ ~ 'l"OOT if 3Ijfmr ~ <!>T >r<Wr i!><t1T t <iT q;< ~ '" ~ "" 01 11 llRT f.Imfur 
<iG <!>T /<it 'Wfr tim /oMt , 
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